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tPienge ﬁl'l'up_"'i'llc OMR Shect of this Question Answer Booklet properly before answering,
1 Dlease also see the dircetions printed on the obverse before filling it.
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. Tha question paper has been divided into three Parts - A, B and C. The number of questions

{o be atempted and their marks are indicated in each part.
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Attempt answers in English.
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Answers ta ail (he questions of each part should be written continuously in the script and
 ghould nol be mixed with those of other parts. Tn the event of candidate writing answers
{0 a question in o part different to the one to which the question belongs, the question will
nol be agsessed by the examiner.
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The candlidintes should not write the answers beyond the limit of words prescribed in parts
A, g € filing this the marks can be deducted.
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T sase e eandidate makes anv identification mark i.e. Roll No./Name/Telephone
No./Mobile Ng. or any other marking either outside gr inside the answer Brook. if
wonld be treated as resorting to using unfair means, In such a case his candidature

shall e reiected for the entive cxamination_by the Commission.
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PART - A Marks : 40
§

Note Attempt afl the twenty questions. Each question carries 2 marks. Answer should
not exceed 15 words,

1 What are the searching algorithms of data structure? Give their complexity.

3  What is DEQUE?
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4 fl:;iltoasand q denote positive integers. Suppose a I‘imction F is defined recurssively as 7 Let a complete undirected ‘graph G have n vertices. Find the number of edges in a vertex
' complete graph?

F(P,q)={ 0 i P<q
Flp-q,q+1 if gq<P

then find F(11,3)?

8  Suppose a weighted graph G is mamtamed in memory by a node array DATA and a
weighted matrix W as follows : .
DATA=XY,S,T
003 0
017
0 0 4. Draw a picture of G.
6 80

B O

5 What is the concept of devide and conquer algorithm?

[l

9 Draw minimum cost spanning tree for the above graph.

6  What are structured analysis tools?
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10 What is meant by cohesion and coupling? 13 What is the output of following ‘

main( )
{
unsigned int y=12;
int x=-2;
it (x>y}
/ printf("x is greater");
else
printf{"y is greater"),
returng;
) 7

11  What is vector generation? what are its algorithms?

i i i i multiprogramming environment?
14 Give diagram for different states of a process in a prog g

12 Describe the use of halfioning?
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15 Give the concept of thread? 18  Write down the interpretation for foliowing machine instruction.

+
A 1,901(2,14)
4
4

16 What 15 the fullferm of DDR SDRAM?

i 19  What is lexical analysis?

I
7 Explain ternary operator with example?

20 Describe the use of gets() function in C?
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PART - B Marks : 60 23 What are the objectives of software testing?

4
Note : Attempt all the fwelve questmns Each questlon carries § marks. Answer should
not exceed S0 words.
2} Translate following infix expression into its equivalent postfix expression.
A/B*D)/EF*(G+H/K)
/
i
E
i
5 24 Give data flow diagram symbols 7 Explain briefly with example.
B
22 Write algorithm of traversing a linear array? {
{
i . ’ . 1...
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25 What is homogeneous coordinate system? Give homoge{neous co-ordinates matrix for

- following.
(i)  Translatien (i) Scaling
(iii) Rotation (iv) Shearing in x-y direction

A

27 What ,is deadlock? What are its necessary conditions?

»

26  Explain flat panel display. What are its types? Explain briefly,

-198  Using Number system convert following ?

) (@37.09 (g
(IV) (54E) 1 6=(?)2

@ (110101.101),=(M)q
iy (10.111),=(7g
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3¢ Consider the following snapshot of a system.
Max

Precess
A
'PU 0 .
51 2
£ 3
B 2
By o

(1) What will be the content of NEED matrix ?
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(i} Foranyone process (Po,Py,P,,P; or Py} write down the steps for checking safe state status?

30 What is loader? What are its functions? Give names of varicus loaders.
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;31 What is meant by exception handling? What are the basics of exception handling?

i

1

r',
32  Ceonsider the following segment table : -
Segment Base Length
0 200 410
1 85 15
2 126 100
3 1300 05
4 2525 150
What are the psysical addresses of following ?
(iy 0120 @iy 106 (iii) 290 (iv) 310 {(v) 4120
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PART - C Marks : 100

'
Note : Attempt any 3 questions. Each question carries 20 marks. Answer should not exceed
200 words.
33 (i) Write down an algorgthm for binary search. ;
(i) Write a program in C lariguage for binary search.
; ra
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34 (i) Co:lsider the line from (1,1) to (5,6} use DDA algorthm to rasterize this line.
(i) Explain depth buffer method.

I m ¢ A b - et 2
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35  What is macro? What are the basic task a macro mstruction processor must perform?
Draw simple one pass macroprocessor flowchart.

ey
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36 (i) Suppose the moving head disk with 200 tracks’is currently serving a request for
track 75. If the queue of requests is kept in FIFO order : 83,17,123,91,55,146;

What is the total head movement for the following Disk scheduling schemes:
{a) FCFS (b) SSTF (¢) C-SCAN
(iiy Censider the following snapshot of processes. Make Gantt chart and compute average
turn around time and waiting time of processes for FCFS, SJF and SRTN algerithms.
Process Arrival J;ime(ms) Next Burst time(ms)

P, 0 : 6
P, 0.5 4
P,. L. 2
rd
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37 Explain spiral model of software engineering with diagram?
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38  Write a program to find the product of two materices using operator(*) overloading nC+. .
1
(
F |
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39 (1) Explain the concept of call by value and call by reference.
(i) 'What is recursion? write a program in C to find the factorial of a Number nsing
recurston.
£-
f{-
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